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BEERXLD
AR O B mrsmex | RIE &t
PRER T E 3.917 2.030 0.873 - -l 6.820
s -1 0.430 - - -l 0.430
TELT - - - 0.360 0.360ff 0.720
Bit 3.917 2.460 0.873 0.360 0.360|f 7.970
= 7.970 m2
IHE  0.050 méLT = 0.399 m3
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TERIR= (2.90+0.58)X7.0mX3'?:2tFEﬂ = 73.08 m2
MBS = (0.12+0.45+0.12)x7.0m x 37%fd] = 14.49 m2
a5t A= 87.57 m2
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3.mEEL

MERED BE 21.20m £fEE 2.90m
BEET 290 x (6.08+6.04+6.08)
+ 1.00 x 21.20 A= 73.98 m2
BiEET (K 170 x  21.20 A= 36.04 m2
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A =1.70%x21.20 = 36.04m2 KRRET (HESMEET) +RWIE
FRARE TFA = 2.90 % (6. 08+6. 04+6. 08) = 52. 78m2
@ RWBIFA = 1.00x21.20 = 21. 20m2
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HEEET HE

XBEINEZMENRES S

[FRAR T )
O#kmEH BE I 05 % BE
£S5 W(mm) L(mm) mEfE () &5 W(mm) L(mm) & ()
1 150 900 0.135 1 330 660 0.218
2 170 70 0.012 2 170 150 0.026
3 140 110 0.015 3 200 200 0.040
4 670 850 0.570 4 230 300 0.069
5 450 350 0.158 5 750 500 0.375
6 170 500 0.085 6 260 270 0.070
7 270 700 0.189 7 210 220 0.046
8 460 450 0.207 8 320 410 0.131
9 800 560 0.448 9 800 700 0.560
10 1030 600 0.618 10 300 850 0.255
11 350 600 0.210 11 400 600 0.240
12 360 600 0.216 2.030
13 300 600 0.180
14 230 230 0.053 OFEk - % BB
15 500 850 0.425 &5 W(mm) L(mm) mE(n)
16 350 500 0.175 1 400 1600 0.640
17 410 500 0.205 2 360 440 0.158
18 80 100 0.008 3 150 500 0.075
19 80 100 0.008 0.873
=) 3.917
QuUbhh B
=2 W(mm) L(mm)
1 0.10 70
2 0.10 100
3 0.15 550
4 0.15 330
a5 1050
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05 = BE
£S5 W(mm) L(mm) mEfE ()
1 130 1160 0.151
2 100 4300 0.430
&5t 0.581
(x&m])
Oxi8 (%) ESEkaTk Ox#E (fa& - M) RBER
E5 W(mm) L(mm) A& (nd) E5 W(mm) L(mm) & ()
1 280 280 0.078 1 400 700 0.280
2 340 420 0.143 2 380 760 0.289
3 250 800 0.200 3 390 400 0.156
4 600 1200 0.720 4 700 550 0.385
5 950 440 0.418 A&t 1.110
=) 1.559
05 = ESEkaTkay
£S5 W(mm) L(mm) )
3 650 3000 1.950
=) 1.950
@B
OBR RIBERR
5 L(mm) WK (m)
1 21000 21.000
A&t 21.000
[F#I (Al P1, P2, A2)
Ok - BEBERIK Ok BE I
£S5 W(mm) L(mm) mEfE (nd) &5 W(mm) L(mm) & ()
1 1200 600 0.720| B BEE 1 600 600 0.360
2 600 600 0.360| E&1II A&t 0.360
3 100 200 0.020[f:BEE
4 450 600 0.270| @&
=) 1.370




